Integration Techniques

Recall the Standard Integrals:
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e Using Division to help Integrate Remember O+ E
e Using Partial Fractions to Integrate

e A Combination of Division and Partial Fractions

in partial fractions.

Ex2 (a) Express
5 =3k=

(b) Hence find the exact value of dx
x -x—6
giving your answer in the form klna.
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(b)  Note that — 7 is an improper rational function and

algebraic long division must be used before integration.

= x+ - (the partial fractions from (a))

Ex3 (a) Express
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7 in partial fractions.
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Express

Given that

determine values for the integers m and n.
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for knowing to divide and
starting division

correct division'.

for correct form of PFs’.

creating correct equation

for any two values™

for third value®

for putting into integral
and any one tem
correctly integrated’.

for any second term.
for third term and + k.



